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For cach data sct below, determine the mathematical expression. To do this, first graph the original
data. Assume the 1st column in cach sct of values 10 be the independent variable and the 2nd column
thc dependent variable. Then taking clues from the shape of the first graph, modify the data so that the
modified data will plot as a straight line. Using the slope and y-intercept from the linear fit. write an
appropriate mathematical expression for the relationship between the variables. Be sure o include
units!
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